[image: image1.emf]Grade 7 (Enr)                      
REVISION 

BASIC ALGEBRA

[image: image26.emf]Q1. In a fruit shop, apples cost 20p each and oranges cost 15p each. Write an expression for the cost of x apples and y oranges. 
Q2. In one month, Dan sends x texts. 

(a) Alix sends 4 times as many texts as Dan. How many is this?

(b) Kris sends 8 more texts than Alix. How many is this?
Q3.  A factory makes bags.

(a) The factory makes m small bags. A small bag has 2 zips. How many zips do they need?

(b) The factory makes three times as many large bags as small bags. How many large bags do they make?

(c) Each large bag has 4 buttons. How many buttons do they need for the large bags?
Q4. At a pick-your-own fruit farm, Lucy picks n apples. Mary picks 5 more apples than Lucy.
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(a) Write down, in terms of n, the number of apples Mary picks.

Nat picks 3 times as many apples as Mary.

(b) Write down, in terms of n, the number of apples Nat picks. 
Q5. In each wall, add two bricks to find the number on the brick above.

Write and solve equations to find the unknown letter in each wall.
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Q6. Solve these equations:
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Q7. If a = 3, b= 2 and c = -1, find the value of each of the following:
(a) 
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(c) 
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(d) 
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Q8. Find the value of (2x-1)(2x+1)(2x+3) when x = -3.
Q9. A man received Rs. 
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 as his salary and Rs. 
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as bonus. He bought a gift for his wife costing Rs. 
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 and a gift for his daughter for Rs. 
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. How much money does he have now?

Q9. Simplify the following expressions:

(a) 
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(b) 
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(c) 
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Q10. Evaluate Expressions:
a) y + 2 + x; where x = 1 and y = 2.

b) p3 + 10 + m; where m = 9 and p = 3.

c) p2m + 4; where 

i) p = - 7 and m = 4 

ii)  p = 2 and m = -5.

d) c ×   bc  – (7 – a)



  4

Q11.
Find the sum:
(a) 
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(b) 
[image: image15.wmf]a

c

c

b

c

b

a

+

-

+

+

3

,

2

,


(c) 
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Q12. Subtract 
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from the sum of 
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Q13. Subtract 
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Q14. The two adjacent sides of a rectangle are 3a – b and 6b – a. Find its perimeter.
Q15. One-half of Heather's age two years from now plus one-third of her age three years ago is twenty years. Express this statement in mathematical form.
Q16. How much is 
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Q17. If 
[image: image24.wmf]xy

x

m

4

9

2

-

=

  and
[image: image25.wmf]xy

x

n

2

3

2

+

-

=

; find 2m – n
Q18. If you multiply the square of a number n by 6 and then add 3 to the product, the sum is equal to 57. Write an algebraic expression for the statement.
Q19. Simplify the following expression:

 9(2a – 7c + 4b) – (b – c) – (-c – 4b)
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